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Navigation
A) An airplane is flying on @ £ 135" at 435 mph. Find the component form

of the velocity of the airplane. N -
_ ¥ = 435¢0s 315
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B) An airplane is flying on afCompass heading(bearing)
is blowing with the bearing 220" at 30 mph.
- Find the component form of the velocity of the airpane.

X = 0 cos 1357 =-121B3L = A
Y= 300 sin136° = 2121322 B

f 315 at 300 mph. A wind
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- Find the component form of the velocity of the wind.

x = 300! )5 14,2832 €

5-:. 305in 230 ~» ~22.481 2D

OD

- Find the actual Emund sReed andidize
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- ) . {ion angle
6= direckion cngle 31-:51":0&««5& 210° dlu“l g !
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oy ship is ht.d The current is HDMDW
6=%toq' (Yx mph Find t (Speed Yf the ship.

.S‘n s X3 lScasﬁ'?bn =0

X= lv‘\ (OG- 4 =15 512" = <15
5:. \ul sinée 3 l},S D At
- 1 X= O cws i
180 + (4D-80.648)W s SRl 4= 3sin 135" 212
Actoa\ %co._ﬁr\rﬁ i s |'ll>
- Llockuiise fean N . S‘“.‘P * (U'ift‘\* = 2
Z-2021,~12.874
L = [-12.879 . - 2
9*{% ! _w_‘) ’5L:p+wuc»'~+| < \[(_QJM)’W(-Q.G?‘I) B%,h
6= 90.648° Shooting a basketball: A basketball is shot at an angle 65 with an initial speed o

12m/sec.
b‘t"d"ﬁh } Rféﬂ’“ 4 q"a“'u. Find the component form of the initial velocity.

b. Give an interpretation of the horizontal and vertical components of the velocity.

Combining Forces: A force of 40 Ibs acts on an object at angle of 20°. A second
force of 65 pounds acts on the object at an angle if - 25", Find the direction and
magnitude of the resultant force.
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